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Thm 7C5: Let p(t) be any Laurent polynomial satisfying
(1) p(1)=+1
(2)  p(t)=p(t?)

e, p(t)=ct™+...+citt+co+ it + ... +cff \

andc¢ +...+Cci+Cco+C1+ ... +Cr =1,

o/
Hence cp=%1-2(cy + ... +,Cr). / !?K /
[hen Q Kast K" A o (£
Proof: If the Alexander polynomial of a knot K is g(t),
then *t*q(t) is also an Alexander polynomial for K.

Hence may take p(1) = 1.
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< K=unknot

| before surgery
on red torus

After surgery,
K = knot with
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(-t t)eL + (¢-1) p=0
L(%,O oL+ (éfz'f- 7S 3 J(_H‘)/ﬁco

(42 S 3 H*)p=o

@ of = ({",Z—JLS{ -HL-ff})zg
.

(el -4)( O3tatizt) s+ (1) s
= (474 y4 g+ 7 —3’({14 V{?_{j/%o
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